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Answer any five questions
All questions carry equal marks

Draw three citcles in a triangle of 6 cm side $uch that éach circle touches one side
and two other circles.

Construct a diagonal scale of R.F 1: 40 to read meters, decimeters and centimeters
to measure up.to 6 m. Mark on it a distance of 3.47 m.

A line AB of length 6 cm is parallel to H.P and inclined to V.P such that one end
is 12 mm. in front of V.P and other end is 5 cm in front of V.P. Draw the
projections and find the inclination with V.P.

The top view of a line of’ 7 em measures 50 mm and front view measures 60 mm.
Its one énd i is 8 mm abo_ve H. R _and 12 mm in front of V.P. Draw the projections

A semi-circular lamma of 46 cm dia 1 th on ‘its straight edge in V.P, such that its
surface makes .an angic of 45 with VP and the edge is makmg an angle of
30% with H P Draw%;he pro;ecu@ns

A cyhnder of 4 cm dla 6 5 cm hei,ght is resting on its base in H.P. It is cut by a
section plane 1nchned"\at 60° .10 H'P and passes through a point on the axis below

the top centre""by 2 cm Dr' w; the projections and develop the lateral surface.

A cone 7 cm dla and ﬁ’e1;gf1t 8 cm is resting on its base in FLP. It is completely
penetrated by a cyhnder of 30 mm dia, 12 cm long the axes of the solids intersect
each other at right angles, 30 mm, above the base of the cone. Draw the

_projections, showing the curves of intersection,

A -s_quaré pyramid of 2-¢m side and axis 4 cm is resting centrally on the top of a
frustum of cone of top and bottom diameters 40 mm and 60 mm respectively
with an attitude of 55 m. Draw the Isometric projection of the combination of
solids.




Draw the front view, top view, side view for the following part shown in figure.
All dimensions are in mm,

A rectangular lamina of sides 60 mmx30 mm stands vertically with one of its
longer edges:on the ground.and inclined at 45° to PP, The vertical edge nearest to
PP is 15 mm behind it. Phe station point is 35 mm in front of PP, 40 mm above
ground and lies on a central plane which passes through the centre of the lamina.
Draw the perspectiyg’fpggiécﬁorf':of the lamina.




